SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

CONTRACT EVALUATION FORM

TO BE FILLED IN BY ALL PROCURING AGENCIES FOR PUBLIC CONTRACTS OF WORKS, SERVICES & GOODS

1) NAME	OF THE ORGANIZATION / DEPTT	Edu: works-I CDG	ж.	
25 00/33/1	INCLAL (LOCAL COVI COTTLER	CAGK.		
3) 11111	OF CONTRACT EST-blishing	ent of Gout-Girls Degree Co	allege at Linguatak	ian-found to tak
4) 11 NDI	IRNIMBER NOT DOEW-I	Tel 4-33 488 dot-21. 7-1	10.2011,	
5) BRILL	DESCRIPTION OF CONTRACT	· ·		
6) 1081	M THAT APPROVED THE SCHEME			
7) 11 NDI	ER I SHMAILD VALUE	20.00. (M)		
(Lor cir	NEER'S ESTIMATE vitworks only) f = 1 1 1 1 1 1 1 1 1 1	18.829 cm		
9) ESTIM	NATED COMPLETION PERIOD (AS	PERCONTRACTO 24 MON	145	
10) HENDI	ER OPENED ON (DATE & TIME)	1-11-2011.		
	BER OF FENDER DOCUMENTS SOL That of buyers)	D 3 Miss		
(2) NUMB		3 Nes		
(3) NUMB	BER OF BIDDERS PRESENT AT THE	ETIME OF OPENING OF BIDS 3	Nes.	
	VALUATION REPORT se a copy)	Enclosed		
15) NAMI.	AND ADDRESS OF THE SUCCESS	FIL BIDDER MIS Shaws & Zo	ein mer Rajpoet & Cou	SI-Ce.
to) CONH	RACT AWARD PRICE	8.829		
17) RANK tie 1	ANG OF SUCCESSFUL BIDDER IN I 2 * 3 d (A ALLA HON BID) M/S	WALLATION REPORT Shawst Zain Mee Respects	- Curst, (c.	
		Yousult sous.		
		Suglehern Abrahuers.		
18) METH	OD OF PROCUREMENT USED (- C	Tick one)		
, 41	SINGLE STAGE - ONE ENVELOP	E PROCEDURI	Domestic LV	
b)	SINGLE STAGE - TWO ENVELOR	PE PROCEDURE		
c)	TWO STAGE BIDDING PROCEDU	'RE		
dì	TWO STAGE. TWO ENVELOPE	BIDDING PROCEDURF		
			A A ANORUM AS	
	PLEASE SPECIES IF ANY OTHER EMERGENCY, DIRECT CONTRACTI		WAS ADDITIONATE	

DISTRICT FFICER Education Works-III (W&X), CDG, Karachi DISTRICT OFFICER
Edipation Works-I
Works and Services Department
City District Govt: Karachi

DIVISIONAL ACCOUNTS OFFICER
Education Works
Works and Services Oppartment
City District Govt: Karachi

			Yes No
21) ADVI	ERTISEMENT:		
1)	SPPRA Website	Yes	
	(If yes, give date and SPPRA Identification No.)	No	
ri)	News Papers (If yes, give names of newspapers and dates)	Yes	~
22) NATU	RE OF CONTRACT		is the lint.
WAS II (If yes,	HER QUALIFICATION CRITERIA NCLUDED IN BIDDING / TENDER DOCUMENT enclose a copy)	18?	Yes No No
WASII	HER BID EVALUATION CRITERIA NCLUDED IN BIDDING / TENDER DOCUMENT enclose a copy)	rs?	Yes No
5) WHETI METHO	TER APPROVAL OF COMPETENT AUTHORITY DD OTHER THAN OPEN COMPETITIVE BIDDII	Y WAS OBTA	AINED FOR USING A Yes No
6) WAS B	ID SECURITY OBTAINED FROM ALL THE BID	DDERS?	Yes No
	IFR THE SUCCESSFUL BID WAS LOWEST EV. EST EVALUATED BID (in case of Consultancies)	ALUATED	Yes 1 No
8) WHEH! COMPL	# HER THE SUCCESSFUL BIDDER WAS TECHNIC LANT?	CALLY	Yes No
WHETH THE TIM	ER NAMES OF THE BIDDERS AND THEIR QUE OF OPENING OF BIDS?	UOTED PRIC	Yes No No
)) WHETH CONTRA	ER EVALUATION REPORT GIVEN TO BIACT?	IDDERS BE	FORE THE AWARD OF

DISTRICT OFFICER

Education Works-1

Works and Services Department
City District Govt: Karachi

DIVISIONAL ACCOUNTS OFFICER

Education WorksWorks and Services Department
City District Govt: Karachi

	31) ANY COMPLAINTS RECEIVED (If yes, result thereof)	Yes	
	(II yes. result increa)	No	No
		CHUICTEN	DER NOTICE / DOCUMENTS
	32) ANY DEVIATION FROM SPECIFICATIONS GIVEN IN (If yes, give details)	Yes	
		No	No.
	33) WAS THE EXTENSION MADE IN RESPONSE TIME? (If yes, give reasons)	Yes	
		No	NC '
	34) DEVIATION FROM QUALIFICATION CRITERIA (If yes, give detailed reasons.)	Yes	
		No	No.
	35) WAS IT ASSURED BY THE PROCURING AGENCY BLACK LISTED?		
	36) WAS A VISIT MADE BY ANY OFFICER/OFFICIAL SUPPLIER'S PREMISES IN CONNECTION WITH THE BE ASCERTAINED REGARDING FINANCING OF VI (If yes, enclose a copy)	ISIT, IF AB	ROAD: Yes No No
	37) WERE PROPER SAFEGUARDS PROVIDED ON M FHE CONTRACT (BANK GUARANTEE ETC.)?	OBILIZAT	HON ADVANCE PAYMENT IN Yes No N
	38) SPECIAL CONDITIONS, IF ANY (If yes, give Brief Description)	Yes	
	39)Date of Award of	L—	
	Signature & Official Stamp of Authorized Officer	·	
	OFFICE USE ONLY		
R	OFFICE OSE OFFICE		

Print Save Reset

DISTRICT OFFICER Education Works-III (W&S), CDG, Karachi

DISTRICT OFFICER
Education Works-1
Works and Services Department
City District Govt: Karachi

3/3

DIVISIONAL ACCOUNTS OFFICER
Education Works -1
Works and Services Department
City District Govt: Karachi



WORKS & SERVICES DEPARTMENT, CITY DISTRICT GOVERNMENT, OFFICE OF THE DISTRICT OFFICER, EDUCATION WORKS-I, PLOT NO: JM/3/379 JIGAR MURADABADI ROAD, NEW TOWN, KARACHI

NO: DO/ (EW-I)//TC/G-55/2011-12/

723.

KARACHI DATED: 5- 11 - -2011

M/S: SHAMS & ZAIN MEO RAJPOOT & CONSTT: CO. Government Contractor,

Karachi.

SUBJECT:

ESTABLISHMENT OF GOVERNMENT GIRLS DEGREE COLLEGE AT

LIAQUATABAD TOWN KARACHI (PHASE-II).

Reference: -

B)

EDO/ W&S/CDGK/2010-11/488 Karachi Dated: 7-10-2011

You're below mentioned rates quoted in the above cited tender for the items shown against each have been found lowest and hereby accepted.

Building items

Rs: 25.14 % above

Rs: 7346788/=

Non-Schedule items

XX

Rs: 10037654/= 17384442/=

Water Supply &S/W Non Schedule Items

@ Rs: 19.98% Above

XX

Rs: 299197/=

Total-A:- Rs:

Total-A:-

657046/=

Total A+B: Rs: 18041488/=

You are advised to please start the work under the instruction/ Supervision of the Deputy City Officer, Education Works SADDAR Town Karachi. The time allowed for completion of work as provided in the tender is (24) Month, which should please be strictly adhered to.

It may please be noted that where ever the nomenclature of any item is not fully elaborated or not clear or any typographical errors in the schedule (B) of the tender that will be read strictly as per sanctioned estimate.

The work should be executed strictly in accordance with the specifications and approved design and in conformity, with the schedule of progress appended to clause-2, of the contract agreement. In the event of you failure to comply with these conditions you will be liable to pay compensation to the Government as per terms and conditions of contract agreement.

You are requested to supply the copy of partner ship deed/ registration deed of firm and power of attorney in the name of any partner of employee of the firm whom you authorize to sign bill, receive payments and instructions in respect of the work.

A true copy of schedule (B) is appended herewith for you gaidance and further necessary

action.

DISTRICT OFFICERON WORKS-I (W&S) DEPARTMENT DISTRICT GOVERNMENT

KARACHI

Encl: True copy of Schedule-B

Copy Forwarded to the Deputy City Officer, Education Works Liaquatabad Town Karachi for information. He should please note that no extra items should be carried out specified

permission is accorded by the competent authority.

OFFICER WORKS-I (W&S) DEPARTMENT

DISTRICT GOVERNMENT

KARACHI

SCHEDULE "B" ESTABLISHMENT OF GOVERNMENT GIRLS DEGREE COLLEGE AT LIAQUATABAD, LIAQUATABAD TOWN, KARACHI.(PHASE-II)

0.110	D. deliantino		Quantity Rate	Unit	Amount	
S.NO.	Description of items SCHEDULE ITEMS :.		Quantity Mate	, other	7.0	
1	SCHEDULE ITEMS				/	
1	P/L 1:3:6 c.c.solid block masonary above 6" thikne	ess set in	1:6 C.M in			
	ground floor superstructure i/c racking out joints & c	curring et	c complete.		1	
	1664.02 Cft 6	189.04	%Cft	Rs.	102987.00	
2	P/L 1:3:6 c.c.solid block masonary & below in 6'	thikness	s set in 1:6		/	
	C.M in ground floor superstructure i/c racking out	joints &	curring etc		/	
	complete.				/	
		891.58	%Cft	Rs.	96486.00	
						/
3	Laying floor of approved white glazed tiles 1/4"	thick in			/	
	white cement 1:2 over 3/4" thick cement mor	tar 1:2			/	
	complete.				100070.00	
	1536.75 Sft 10	0416.34	%Sft	Rs.	160073.00	/
					,	
4	White glazed tiles dado 1/4" thick laid in 1:2 ceme	nt sand			/	
	mortar 3/4" thick i/c finishing.		0/04	Po.	487309.00	
	4554.00 Sft 10	0700.69	%Sft	Rs.	467349.00	
		2.21 for				
5	P/F G.I.frames / chowkhats of size 7"x2" or 4-1/2	and and				
	door using 20 guage G.I.sheet i/c welded hing	coment				/
	fixing at site with necessary hold fasts filling with sand slurry of ratio 1:6 and repairing the jambs. T	he cost				/
	also i/c also i/c all carriage tools and plants	used in			/	
	making and fixing (P/98-29).	useu III			/	
	969.00 Rft	113.37	P.Rft	Rs.	109856.00	
	909.00 Kit	110.01				
6	P/F G.I.frames / chowkhats of size 7"x2" or 4-1/:	2x3" for				/
	window using 20 guage G.I.sheet i/c welded hing	ges and				/
	fixing at site with necessary hold fasts filling with	cement			,	
	sand slurry of ratio 1:6 and repairing the jambs. T	The cost			/	
	also i/c also i/c all carriage tools and plants	used in			/	
	making and fixing (P/98-28).				1	
	216.00 Sft	122.17	P.Sft	Rs.	26389.00	
7	P/F with sunk iron screws wooden Architrave a	pproved			/	
	design / shape having width not less than 2-	-1/2" as			/	
	directed by Engineer Incharge.		2.20	D-	49123.00	
	1893.00 Rft	25.95	P.Rft	Rs.	49123.00	
8	O Live 9 Seine in monition Aluminimo channels	framing				
	Supplying & fixing in position Aluminium channels for slidding windows & ventilators of Alcop made	withing				
	5mm thick tinted glass glazing (Belgium) & Alu	uminium				
	glass glazing (Belgium) & Aluminium fly screen	n i/c i/c			/	
	hangles stoppers & locking arrangement etc comp	ete			/	
	1852.00 Sft	586.36	P.Rft	Rs.	1085939.00	/
	1002.00 011				,	/
9	S/F in position iron steel grill 3/4"x1/4" approved of	design &			/	
	shape i/c painting 3 coats.(P97-25).				/	
	480.00 Sft	115.47	P.Sft	Rs.	55426.00	
					/	
10	R.C.C.spout i/c fixing in position 2-1/2"x6"x5" (P/2"			_	1100100	
	72 No	161.45	Each	Rs.	11624.00	
		g				/
11	M/F grating in opening including fixing at site with	flat iron			/	
	2" x 3/8" and 3/4" squaare bars at 4" centre to	o centre			/	
	(P/97-25)	16E 42	P.Sft	Rs.	5294.00	
	32.00	165.43	F.OIL	113.	020 1.00	

S.NO.	Description of items	Quantity	Rate	Unit	Amount	
12	Hard wood railing of any shape and design including bends and corners fixed in position i/c polishing complete					
1	as directed (a) shisham wood (P/69-30,a).				/	/
	32.00 183.37	P.Sft		Rs.	5868.00	
13	M/F Notice board made with cement on walls.				(/ /
	792.00 28.86	P.Sft		Rs.	22857.00	/
14	Distempring three coats.					
	22845.25 263.51	%Sft		Rs.	60200.00	
15	Preparing the surface & painting with matt finished in/c rubbing the surface with bathy (silicon carbide rubbing brick) filling white zink / chalk / plaster of paris mixture applying premix making the surface smooth and then painting three coats with matt finish of approved make etc complete (New surface) 2nd & subsequent coat.				/	/
	39894.34 1433.03	%Sft		Rs.	571698.00	/
16	P/L 2" thick topping c.c.i/c surface finishing & dividing into				/	
	the panells ratio 1:2:4.	24.25		р.	50005.00	
	3740.00 1396.67	%Sft		Rs.	52235.00	/
17	Two coat of bitumen laid hout using 34 lbs %Sft over roof				/	/
	and blinded with sand at one Cft per %Sft (P/41-13). 3740.00 431.21	%Sft		Rs.	16127.00	/
	3/40.00	70010				
18	Extra labour for two coat of bitumen.	0/ 04		Rs.	968.00	/
	3740.00 25.87	%Sft		NS.	900.00	/
19	P/F Aluminium sheet 6" to 9" with V Notch for expansion				/	
	joints i/c fixing with nails screws (P/115-88). 144.00 104.54	P.Sft		Rs.	15054.00	
	144.00	1.010		1.0.	1000 1.00	
20	Providing Anti-termmiete treatment by spraying / sprinkling / spreading Neptachler 0.5% Emulsion as an over all pre construction treatment in slab type construction along external foundation trenches of the building over complete parimter of the foundation trenchetc as per directions of Engineer Incharge (P/115-91). 12375.00 16.98	P.Sft		Rs.	210128.00	/
21	P/F colour create to wall surface to provide, durable crust					
21	and aesthetics having thickness upto 3/4" with specified colour having water, fire and temite resiwtance (upto 20' - 0" height).(P/63-44)				/	
	11709.00 3137.20	%Sft		Rs.	3673/35.00	
22	P/L tiles glazed 6" x 6"x1/4" on floor or wall facing in required colour and pattern STILE specification jointed in white cement and pigment over a base of 1:2 grey cement mortar 3/4" thick i/c washing and filling of joints with slaurry of white cement and pigment in deired shape with finishing cleaning and cost of wax polish etc complete i/c cutting tiles to proper profile (P/53-60). 8518.76 13663.35	%Sft		Rs.	1163948.00	/
23	P/F 3/8" thick marble tiles of approved quality & colour shade size 8" x 4/6" x 4" in dado skirting and facing removal / tucking of existing plaster surface etc over 1/2" thick base of cement mortar 1:3 setting mortar base i/c filling the joints and washing the tiles with white cement slurry, currnt, finishing cleaning and polishing etc complete (for new work) (P/55-68-ii).				/	/
	434.00 74.65	P.Sft		Rs.	32398.00	

2 110	Description of items		Quantity	Rate	Unit	Amount	
1	P/F collapsible gate with channel framing of 3/4"x5/16" at 4" i/c revitted with 3/4" x 1/8" flat placed diagonally and provided with tope & b section /1" x 1" 1/8" along with rollers also arrangement and fixing in floor / ceilling of	t iron patti oottom T - i/c locking					
	completed (P/99-32) 165.00	225.50	P.Sft		Rs.	37208.00	
25	Erection & removal of centering for R.C.C c.c.work or deodar wood (2nd class) (ii) for ver	or plain tical (P/21-					
	18,b). 4590.00	1405.75	%Sft		Rs.	64524.00	
26	C.C.plain i/c placing compacting finishing complete (i/c screening and washing of stone without shutter ratio 1:3:6 (P/18,5,h).	aggregate				70000 %	
	1537.65	5001.70	%Sft		Rs.	76909,00	
27	C.C.brick or stone ballast 1-1/2" to 2" guage rat				De	245583.00	-
	6852.00 Sft	3584.10	%Cft		Rs.	245363.00	
28	P/L 3" thick topping c.c.i/c surface finishing & c the panells ratio 1:2:4. 13704.00	1820.23	%Sft		Rs.	249444.00	
29	R.C.C. work i/c all labour and material except steel reinforcement and its labour for bending which will be paid separately. This rate also kinds of forms moulds lifting shuttering curing and finishing the exposed surface (i/c screwashing of shingle) (a) R.C. work in roof scoloumns rafts, lintels and other structural main situ or precast laid in position completed in	and binding includes all grendering eening and lab, beams embers laid					
	ratio 1:2:4 (P/18-6,a-i). 678.42	114.00	P.Cft		Rs.	77340.00	
30	Fabrication of steel reinforcement for c.c bending, laying in position, making joints and cost of binding wire (also removal of rust from tor bars) (P/18-7,a).	fastening i/c					
	45.43	2772.55	P.Cwt		Rs.	125957.00	
31	Coloured cement tiles (patterns) 12" x 1 approved shade and pattern mortar over a thick grey cement mortar 1:2 (P/53-59).	2" x 1" of bed of 3/4"					
	1523.00	4024.88	%Sft		Rs.	61299.00	
32	Filling watering, and ramming earth in floor wit excvated from outside lead upto one chain ar 'ft, (P/5-22)	th new earth nd lift upto 5					
	149948.75	1488.30	%0Cft	-	Rs.	223169.00	
				Total I	Rs.	587 0 855.00	
	01				1.1	W/	

25.19 %above/below (Contractor signature)

DISTRICT OFFISER EDUCATION WORKS-I (W&S) DEPARTMENT CDG KARACHI

	NON SCHEDULE ITEMS :.			
33	M/F door & windows ventilator i/c size having (3"x4-1/4" to 5") and shutter glazed or fully glazed size 1-1/2" to 2" the with deodar wood of first class hold fast, tower bolk chocks cleats handles cord with hook, and i/c the cost of nails screws, etc complete as directed by the Engineer Incharge (L.Q.R)	n es of er	Rs.	187416.00
34	P/F in position door & windows and ventilator for first class deodar wood frames 1 1/2" thick and teak wood p Shutters of first class deodar wood skelton (Solid) stilled and ply wood stiled and rails core of deodar wood are teak ply wood (3 ply) on both sides i/c hold fasts hinged al-drops Iron Tower Bolts handles Cleats with Cord e Complete(Only shutters) (L.Q.R).	st y d d es		
35	921.48 369.0 Lacquer polish (L.Q.R)	0 P.Sft	Rs.	340026.00
	1842.96 40.0		Rs.	73718.00
36	Rough cost/stucco cement plaster 3/4" thick in proportion of 1:1 1/2" 1 1/2" in cement hill sand and bajri patterns (CAR)	in /	P.	486041.00
37	P/L floor of Verona marble tiles of size 12" x 12" x 3/ fine dressed on the surface without winding set in whi cement laid over 3/4" thick bed of 1:2 grey C.M setting the tiles with grey cement slurry. Jointing and washing the colur of the tiles i/c curing, grinding, rubbing and chemic polishing etc complete i/c cutting tiles to proper profi	4" te ne ne ne	Rs.	406041.00
38	P/L porcelene tiles glazed and polished 24"x24"x5/16" of floor or wall facing in required colour and pattern in whicement and pigment over a base of 1:2 grey ceme mortar 3/4" thick i/c washing and filling of joints with slur of white cement and pigment in desired finishing, cleaning and coat of wax polish etc	on ite ent rry	Rs.	4256123.00
	cutting tiles to proper profile 1948.00 260.0	00 P.Sft	Rs.	506480.00
39	Cement plaster (1:4) 3/4" upto 15" ft height internal wa coloumns peraphit including making edges corne finishing curring etc complete in all respectomplete.	ers ect	Rs.	755588.00
40	P/A Graffito (3/8" to 1/2" thick) the product composede material marble guard stone, iron oxide, detonium HS natural colour, chips and pigments ammonia nitroge jelicoal, heated on high temperature on ultra violet lar mixed with acrylic resin anti bacterial & fungal additives anti fuming against alkali, showing no blistering wrinkli or lifting after application, resistant to accelerated weath change and resistant to water head of 100 ft liters per hours drying time, having tocuhn dry from 4 to 8 hou and full dry in 72 hours, the specific gravity various from texture to texture form 2.5 to 2.8 (R.A.)	SC sn, np & ang leer · 8 lirs om	Rs.	394561.00
	11273.10			

Quantity Rate Unit

S.NO.

Description of items

Amount

S.NO	Description of items		Quantity	Rate	e Unit	Amount	
	1320.00	140.00	P.Sft		Rs.	184800.00	
42	Providing and earacture R.C.C.1:2:4 processing and solution of steel relabour and material i/c the cost of steel relabour for bending and binding i/c the exposed surface i/c all labour and material 3696.00	bile crare i/c all einforcement and ne finishing the	P.Sft		Rs.	1286208.00	
	Filling with proper granalar material s leveling dressing watering and ramming run gravel mixed with sand haro or any of of same modules of same medules of fill the cost of carriage from the sources to lead upto 15 miles as required by En	compacting pit ther course sand incress hill sand the site of work				/	
	28860.00	18.00	P.Cft		Rs.	519480.00	//
44	Extra lead for 10 miles.						
	149948.75	698.38	%Cft		Rs.	1047212.00	
				Total	Rs.	10037654.00	
ę	%above/betow (Contractor signature)				DISTRICT OF EDUCATION V (W&S) DEPAR CDG KAI	VORKS-I RTMENT	

SCHEDULE "B"

PART - B (W/S & S/WORK)

ESTABLISHMENT OF GOVERNMENT GIRLS DEGREE COLLEGE AT LIAQUATABAD, LIAQUATABAD TOWN, KARACHI.(PHASE-II)

S.NO.	DESCRIPTION OFITEM	QUANTI	TY	RATE	UNIT	AM	OUNT	
	SCHEDULE ITEMS :.							
1	P/F squatting type W.C.of not less than 1 flushing rims and 3 gallons flushing tan C.I.floor etc white glazed of of flushine cis flush pipe with ;bend and making requisite plinth & floor for pipe connections & making ii)	k with 4" stern with in numbers o	dia C nterna of hole	C.I.trap & I fitting & es in wall				
	"1	15 Nos		2069.10	Each	Rs.	31036.50	
2	P/F European white glazed earthen was complete with and i/c the cost of white/black and laid with c.p.brass hinges & buffers earthen ware low level flushing cistern with white porcelain enamelled flush bend 3/4" number of holes in walls, plinth & floor making good in cement concrete 1:2:4 (Foremann parts).	k plastic sea , 3 gallons th siphon fi dia and m for pipe co	at (bes whit tting 'aking aking	st quality) e glazed I-1/2" dia requisite ions and				
		2 Nos		2594.90	Each	Rs.	5189.80	
3	P/F 24" x 18" lavatory basin in white colour IFC) design with & i/c the cost of all finishirubber plug, chrome plated brass chain 1-brass unions earthen ware padestal of making also i/c the cost of making holes i making good as dinished originality.	ing accessa 1/4" dia ma natching co	aries 1 alleab blour 0	1-1/2" dia le iron or of similar				
	making good as difficult originality.	15 Nos		1288.65	Each	Rs.	19330.00	
4	Add extra for labour for providing & fixing white or coloured glazed (Standard patterns			pedestal 416.55		Rs.	6248.00	
5	P/F 6"x2" or 6" x 3" C.I.floor trap of approviate a C.I.screwed down grating with a complete with & i/c making requisite numplinth & floor for pipe connections & making	or withou	it a v holes ::1:2:4	vent arm in walls,		Rs.	2932.00	
6	P/F in position nyloon connection complete	e with 1/2"	dia bi	rass stop			/	
	cock with pair of brass nute & lining joints to	nyloon cor 20 Nos			Each	De	1557.00	
7	P/F long bib cock of superior crystal head w (P/15-15,b).	ith C.P.hea	d 1/2"	dia		RS.		
		16 Nos		211.00	Each	Rs.	3376.00	
8	S/F C.P.Muslim shower with crystal head et	c complete 4 Nos		-6,b). 715.00	Each	Rs.	2860.00	

F						
18	Providing R.C.Cpipe with collars class "b" ar required depth and fixing in position i/c cutti maxphalt composition & cement mortar 1: pressure to a head of 4 ft above the top of with expected staff (P/21.2)	ng fitt 1 and	ing and jo	ointing with with water		
	with excvated staff (P/21-2) 4" dia pipe	100	Rft	62.40 Each	Rs.	6240.00
	6" dia pipe	150	Rft	94.12 Each	Rs.	14118.00
	9" dia pipe	150	Rft	149.76 Each	Rs.	22464.00
19	S/F water pumping set 1 H.P.with 1400 RP 2" x 1.5" x 1.5.	M sin	gle phase	e 220 Volts		
	2 X 1.6 X 1.6.	1	Nos	22000.0 Each	Rs.	22000.00
20	S/F Fiber Glass Tank of approved quality 8 as specified i/c cost of nuts bolts & fixing in making connections for inlet & over flow gallons).	plate	form of C	C.C.1:3:6 &		
	ganoro).	1	Nos	14485.50 Each Total:.	Rs.	14 4 86.00 298257.30

QUANTITY | RATE | UNIT |

AMOUNT

Above / Below

DESCRIPTION OFITEM

S.NO.

(Contractor signature)

DISTRICT OFFICER EDUCATION WORKS-I (W&S) DEPARTMENT CDG KARACHI

S.NO.	DESCRIPTION OFITEM	QUA	NTITY	RATE UNIT	AN	MOUNT
	NON SCHEDULE ITEMS :.					
21	P/F P.V.C Nepro make of Schedule	40 in/c cutti	ng fitting	complete		
	in/c the cost of breaking through walls c.c and testing with water to pressure	and root and	ft and h	andling etc		
		nead of 200	it and in	arraining oto		//
	complete (R.A). 1/2" dia	250	Rft	45.00 P.Rft	Rs.	11250.00/
	3/4" dia	150	Rft	58.91 P.Rft	Rs.	8837.00
	1" dia	150	Rft	91.68 P.Rft	Rs.	13752.00
22	P/F P.V.C Tee of schedule 40 in/c fitt	ing etc com	plete as	directed by		
22	D.O.Incharge (R.A).	Č				_/_/
	1/2" dia	10	Nos	109.67 Each	Rs.	1097/00
	3/4" dia	50	Nos	136.29 Each	Rs.	6815.00
	1" dia	65	Nos	160.49 Each	Rs.	10432.00
23	P/F P.V.C Elbow of Schedule 40 of 90) degree in/c	fitting et	tc complete		
	as directed by D.O.incharge (R.A).				D-	1099.00
	1/2" dia	20	Nos	54.95 Each	Rs.	3486.00
	3/4" dia	46	Nos	75.79 Each	Rs. Rs.	7013.00
	1" dia	50	Nos	140.25 Each	113.	7010.00
24	P/F P.V.C socket of schedule 40 in/o	fitting etc c	omplete	as directed		
	by D.O.Incharge (R.A).			37.80 Each	Rs.	756.00
	1/2" dia	20	Nos	45.80 Each	Rs.	1832.00
	3/4" dia	40 30	Nos Nos	55.48 Each	Rs.	1664.00
	1" dia					
25	P/F P.V.C bush of schedule 40 in/c	fitting etc c	omplete	as directed		
	by D.O.Incharge (R.A).	10	Nos	64.34 Each	Rs.	643.00
	1/2" dia	20		85.80 Each	Rs.	1716,00
	3/4" dia 1" dia	10	Nos	140.80 Each	Rs.	1408.00
	P/F "U" P.V.C pipe of schedule 40	of Nepro pla	etic for	waswte and		/
26	vent pipe i/c cutting and fitting join	ntina specia	"U" P.\	V.C cement		
	soulation as approved directed by D.	O.Incharge (R.A).			//
	4" dia	150	Rft	324.39 P.Rft	Rs.	48659.00
	6" dia	75	Rft	400.00 P.Rft	Rs.	30000.00
27	P/F "U" P.V.C tee 4" dia i/c fitting	iointing wit	h specia	ıl "U" P.V.C		
21	cement soulation as pproved and dir	ected by D.I.	Incharge	e (R.A).		
	Comon Coalaile, at pr	20	Nos	650.00 Each	Rs.	13000.00
28	P/F "U" P.V.C Elbow dia i/c fitting	jointing wit	h specia	al "U" P.V.C		
20	cement soulation as pproved and d	irected by D	.l.Inchar	ge (R.A).(90		//
	Degree).	00	Nes	395.34 Each	Rs.	7907.00
	4" dia	20	Nos	350.34 EdCII	113.	7001.09
	6" dia	10	Nos	750.00 Each	Rs.	7500.00

S.NO.	DESCRIPTION OFITEM	201	ANTITY I	PATES / LUNIT	Ks.	AMOUNT,00
31	P/F "U" PVC vent cowl 4" dia i/c fitting joir solution as approved & directed by Engineer			al U PVC		
	4" dia	30	Nos	174.79 Each	Rs.	5244.00
32	P/F U PVC clamp 4" dia i/c fitting jointir solution as pproved & directed by Engineer II			U PVC		
	condition as personal a uncolled by Engineer in		Nos	74.25 Each	Rs.	\$713.00
33	P/F "U" P.V.C "Y" tee 4" dia i/c fitting jointing cement soulation as pproved and directed by			U" P.V.C		
			Nos	650 Each	Rs.	18200.00
34	P/F PVC Bush of schedule 4" dia i/c fitting jo solution as approved & directed by D./O.Inch			al U PVC		
		20	Nos	464.80 Each	Rs.	9296.00
35	P/F "U" P.V.C Socket dia i/c fitting jointing cement soulation as pproved and directed by					
	4" dia	85	Nos	305.14 Each Total	Rs.	25931.00 299197.00

% Abové / Bêlow

(Contractor signature)

DISTRICT OFFICER
EDUCATION WORKS-I
(W&S) DEPARTMENT
CDG KARACHI

PAKISTAN: PAKISTAN SGP (Khp.) D. No. 105-11-94-50,000 L.F. of 8 is. each. G. R. P. W. D. Nos. 7938 of 6-4-35
66-1 of 8-6-36, 1959-W of 27-9-37, G.C.M.P. and M. Deptt. No. 383-1/37 of 9-12-37
(P. W. D.) No. S-173, 2-W of 22-2-39, G. Rs (P. W. D.) No. 1038-1 of 22-2-37
12-10-44 and 2-5-44 6-4-W of 22-2-39
12-10-44, and 2-5-44, o5-W 1038/11-1 of 28-3-49, 4-47-W 2 of 12-12-50. PUBLIC WORKS DEPART no for mit Shams & Zeen Canst Co. Percentage Rate Tender and Contract for works PAKISTAN PAKISTAN General Rules and Directions for the Guidance of Contract 1. All work proposed to be executed by contract shall be nothed form of invitation to tender posted on a board hung up in the office of the Executive Engineer and signed by the Executive Engineer. This form will state the work to be carried out, as well as the date for submitting and opening tenders, and the time allowed for curryin but the work; also the amount of earnest money to be deposited with the tender, and the amount of the security deposit to be deposited by the succossful conderers and the percentage, if any to be deducted from bills. It will also state whether a refund of guerry fees conditions of the successful condenses. ther a refund of quarry fees, royalities, octroi dues and ground rents will be granted. Copies of the specifications, designs and drawings and estimated **PAKISTAN** rates schedule rates and any other documents required in connection with the work shall be signed by the Executive Engineer for the purpose of identification, and shall also be open for inspection by contractors it the office of the Executive Engineer during office hours 2. In the event of the tender being submitted by a firm, it must be signed separately by each partner there of, or in the event of the absence of any partner, it shall be signed on his behalf by a person holding a power-ofartorney authorizing him to do so. 3. Receipts for payments made on account of any work, when executed by a firm, shall also be signed by all the partners, except where the contract tors are described in their render as a firm, in which case the receipt shall be signed in the name of the tirm by one of the partners, or by some other persons having authority to give effectual receipts for the firm. 4. Any person who submits a tender shall fill up the usual pring stating at what percentage above or below the rates specified in School memorandum showing items of work to be carried out; he is willing to under take the work. Only one rate of such percentage, on all the Estimated rates shall be framed. Tenders, which propose any alteration in the works specified in the said form of invitation to tender or in the time allowed for carrying out the work, or which contain any other conditions, will be liable to rejection. No printed form of tender shall include a tender for more than one work, but if contractors wish to tender for two or more works they shall submit a separate tender for each. Tenders shall have the name and number of the work to which they refer written outside the envelope. 5. The Executive Engineer or his duly authorised Assistant shall open tenders in the presence of contractors who have submitted tenders of their representatives who may be present at the time, and he will enter the amounts y Care of the several tenders in a comparative statement in a suitable form. In the Identification, sign copies of the specifications and other documents mentioned in Rule I. In the event of a tender being rejected the Divisional Officer shall authorize the Treasury Officer concerned to refund the amount of the earnest money for deposited to the contractor making the tender, on his giving a receipt for the returnof the money. 6. The Officer competent to dispose of the tenders shall have right por rejecting all or any of the tenders. Saucation W Gity District Governmen! Karaeb!

no tar as applicable, and in default thereof to furfeit and pay to Government the sums of money mentioned in the said conditions.

from Government Treasury or in respect of the sum of Rs. Receipt No. dated sub-Treasury at is herewith forwarded representing the earnest money [(a) the full value of

which is to be absolutely forfeited to Government should $\overline{W_R}$ not deposit

the full amount of security deposit specified in the above memorandum, in accordance with Clause 1 (A) of the said conditions, otherwise the said sum of Re......shall be retained by Goevenment on account of such security deposite as aforesaid 1 or (b) the full value of which shall be retained by the Govenrement on account of the security deposit specified in clause I (B) of the conditions].

Park A' at 25.14 % above (Lucut

(Occupation

of Sind.

Dated the

ondition of Contract of tender may be accept ited (hereinafter called

the contractor) shall (A) (within one day for a contract of Rs. 1,000 or. Executive District Officer oss, or two days for a contract of more than Rs. 1,000 upto Rs. 2,000 arthorks & Services Department of the receipt of the notification of the acceptance of his tender.) deposit with the Executive Engineer in cash or Govt: Securities endorsed to Executive Engineer (if denosited for more then twelve months) a sum sufficient with the amount of the earnest money deposited by him with his tender to make up the amount of the earnest money deposited by him with his tender to make up the full security deposit specified in the tender, or (B) (permit Government at the time of making any payment to him for work done under the contracts to deduct such sum as well (With the earnest money deposited by him.) amount more percent of all moneys so payable: such deduction to be held by Government by way of security deposit): Provided always that in the event of the contract or depositing a Lump sum by way of security deposit as contemplated at (A) above, then and in such case, if the sum so deposited shall not amount to percent of the total estimated cost of the work it shall be lawful for Government at the time of making any payment to the contractor for work done under the contract to make up the full amount of...... percent by deduction a sufficient sum from every such payment as last aforesaid. All compensation other sums of money payble by the contractor to Government under the terms of his contract may be deducted from, or paid by the sale of a sufficient part of his security deposit, or from the interest arising therefrom, or from any sums which is due or may be ome due to the contractor under this contract and in the event of his security deposit being redand in the event of his security deposit being redneed by reason of any such deduction or sale as aforesaid the contractor shall within ten days thereafter, make good in cash or with Government securities endorsed as aforesaid any sum or sums which may have been deducted from, or raised by sale of his security deposit or any part thereof. The security, deposit referred to, when paid in cash, may, at the cost of the depositor, be deposit referred to, when pand in cash, may, at the depositor has extended into interest-bearing securities provided that the depositor has extended to the times bearing securities provided that the depositor has extended to the times bearing the securities of the

*Amount to be specified in words and figures

Strike out (a) if so a h.security deposit is to be taken.

**Strike out (b) if any cash security deposit is to be taken.

"Signature of co-ntractor before su-busission of tender **Signature of witness to coultra-

Signature of the officers by Whom scorpted.

Sity District Government

Karaobl

Bid Evaluation Report

- I Name of Procuring Agency: District officer Education works-I Karachi
- 2. Tender Reference No: Nov Do Ew-[17c19-55] 2014-12 488 data: 7-10-2011
- 3. Tender Description/Name of work/item: Establishment & Government Firls Degree College Lievy of
- 4. Method of Procurement: Single 54-ge one Envelope Ascedure.
- 5. Tender Published: Business Recorder 14-10-2011.

 Print & Electronic Media (SPPRA ID No. & News papers names with dates)
- 6. Total Bid documents Sold: 3 No.5:

7. Total Bids Received:

3 Nos

8. Technical Bid Opening date: (if applicable) NA

(Provide details in separate form)

9. No. of Bid technically qualified (if applicable): MA.

10. Bid(s) Rejected:

11. Financial Bid Opening date: 1-11-2011.

12. Bid Evaluation Report:

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
- 0	1	2	3	4	5	6 '
O.	mys Shaws LZaiv	(A) 17384442F	Ist lowest	(A) 25.14 Laboue	Qualifica as Pes	Recommendad for
1.	Meo Kalport LONS	168,6570461=		BULLE & apare	evaluation criteria.	award of work.
2.	MISYOUSULL 13 SONS.	(1) 17434931/-		B) do / about.	A STATE OF THE STA	non Responsive
5.	Mrs Shaleheen	(A)17493646.	3rd lowest	(A) 27/ above.	-do -	-00-
4.	D					

DIVISIONAL ACCOUNTS OFFICER Education Works-I Works and Services Department City District Govt: Karachi

SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

CONTRACT EVALUATION FORM

TO BE FILLED IN BY ALL PROCURING AGENCIES FOR PUBLIC CONTRACTS OF WORKS, SERVICES & GOODS

	D N	JAME O	ETHE ORG/	ANIZATION / DEI	PTT. Edu	1: WOYKS	I cogs	Κ		- 3/4
				L GOVE OTHER	R	CAG	K.			
			F CONTRAC	Establish	P + warne	Gend Girle	newee col	Mege at Lina	matabad for	baralnum
			CNUMBER	NOT DO EWA	ITCHE.	55/488 d	ated: 7-11	0-2011,	Table 1	
				OF CONTRACT	Transfer and I was	-	•			
				OVED THE SCHE	MI.	-	60			
			CI SHMATE			20.0	00 . (M)			
			LR'S ESTIM			18.829	ems f			
			Lworks only)				100 C. 74 C. 160 C			
	9) 1	STIMA	TED COMPL	ETION PERIOD	AS PER CO	ONTRACT)_	24 mour	lhs		
	10)	CENDEL	COPENED O	N (DATE & TIME	1-1-	11-2011.				
				R DOCUMENTS						
			ist of buyers)	State of the state	24					
	12) 1	NUMBE	R OF BIDS R	ECEIVED	7 1 2	3 NOS				
				RS PRESENT AT	THE TIME	OF OPENING	OF BIDS 3	NoS .		
			ALUATION I		- 9					
	25,000		a copy)	17.4 (7.1.)	-					
	15)	NAME	AND ADDRE	SS OF THE SUCC	ESSITE B	IDDER MIS	Shaws LZa	in Mec Rajpo	ot a coust o	0,
	3.63.0	(30,000								
	list (CONTR	ACT AWARI) PRICE	18.8	24				
	17)	RANKI	NG OF SUCC	ESSFUL BIDDER	IN EVALU	ATION REPO	DRT			
		ri ¢. L.	2" 3" LVAL	ESSFUL BIDDER UATION BIDL (*	MIS Shau	ust Zain M	ee Rajpoot L	-Coust, Co.		
				٢	We you	isult so	KS_,			
						between 4 br		0.		
	181	XAUTH(mon PROC	TREMENT USED	C - (Tick or	ic)				
	141	VIII III						Domestic/ Llve	2	
		3.7	SINGLE ST	AGE - ONE ENVI	LOPE PRU	K EDI KL		Danesto Con		
					1:1 / SDL DD/	WEINERL			7	
		ls)	SEXULEST	AGE TWO EXV	LEOUE EIS	CK LIDY KIL				
		41	13/0 STAG	E BIDDING PRO	CEDURE					
		,fi	TRO STAG	E TWOTNVEL	OPE BIDD	NG PROCED	RI			
			DEL SSI SP	CHA II ANY C	MILES ME	гнор о́Г РВ	OCTREVIENT	was aborted	10	
				Y, DIRECT CONTR						
					Λ					
1		-			1	611			175	-

DIVISIONAL ACTOMETS OFFICER

Works and South Revertment City District Govt: Karachi gartment City District Government

Karashi

1/3

20)	WHEE	HER THE PROCUREME	ENT WAS INCLUDED	IN ANNUAL	, PROCUREMENT PLAN? Yes No No
21)	ADVE	RTISEMENT :			
	i)	SPPRA Website	nan a ti see a a Na	Yes	
		(If yes, give date and SF	PPKA Identification So	No No	
	ii)	News Papers (If yes, give names of n	newspapers and dates)	Yes	
		Asr.	No. of	No	~
22)	NATU	RE OF CONTRACT			ix Money Int.
23)	WAS I	HER QUALIFICATION NCI, UDED IN BIDDING enclose a copy.)	CRITERIA G / TENDER DOCUMI	NTS ⁹	Yes No
24)	WAST	HER BID EVALUATION NCLUDED IN BIDDING enclose a copy)		ENTS?	Yes No
25)	WHET	TIER APPROVAL OF CO OD OTHER THAN OPE	OMPETENT AUTHOR EN COMPETITIVE BII	RITY WAS OF DDING?	BTAINED FOR USING A Yes No No
26)	WAST	31D SECURITY OBTAIN	NED FROM ALL THE	BIDDERS?	Yes No
27)	WHET BID T	TIER THE SUCCESSFU BEST EVALUATED BIL	II. BID WAS LOWEST O (in case of Consultance	EVALUATE ies)	D Yes No
28)	8) WHETHER THE SUCCESSFUL BIDDER WAS TECHNICALLY Ves COMPLIANT?			Yes No	
29)	WHET THE T	THER NAMES OF THE TME OF OPENING OF I	BIDDERS AND THE BIDS?	IR QUOTED	PRICES WERE READ OUT AT Yes No No
30)		RACT?	REPORT GIVEN TO		BEFORE THE AWARD OF
		h copy of the bid evaluation		137	

DIVISIONAL ACCUMES OFFICER

Works and Hely line Delightment
City District Govt: Karachi

City District Government

Karash

2/3

31) ANY COMPLAINTS RECEIVED (If yes, result thereof)	Yes				
	No	No			
	ATIONS GIVEN IN THE TEN	S GIVEN IN THE TENDER NOTICE / DOCUMENTS			
(II'yes, give details)	Yes				
*	No	No.			
33) WAS THE EXTENSION MADE IN R (If yes, give reasons)	ESPONSE TIME? Yes				
No. of Contract of	No	No 1			
34) DEVIATION FROM QUALIFICATIO (If yes, give detailed reasons.)	ON CREIERIA Yes				
	No	No.			
SUPPLIER'S PREMISES IN CONNE BE ASCERTAINED REGARDING FI (If yes, enclose a copy) 37) WERE PROPER SAFEGUARDS PR THE CONTRACT (BANK GUARAN)	NANCING OF VISIT, IF ABR OVIDED ON MOBILIZATION	OAD; Yes No V N ADVANCE PAYMENT IN			
		Yes No No			
38) SPECIAL CONDITIONS, IF ANY (If yes, give Bnet Description)	Yes				
39)Date of Award of Contract:	5-11-2011				
Signature & Official Stamp of Authorized Officer ducation Work City District	Officer s-1 (W&S Books)				
FOR OFFICE USE ONLY	a e b l				

SPPRA, Block. No.8, Sindh Secretariat No.4-A, Court Road, Karachi Tele: 021-9205356; 021-9205369 & Fax: 021-9206291

Print Save Reset

Se Fest Stere Stere Ied

n 1 79 Idi, uc

o le,

0

ä

DIVISIONAL ACCOUNTS OFFICER
Education works-I
Works and Services Department
City District Govt: Karachi

3/3